[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

10 12 14 16 18 20
track x?

1] [} 0 "
X o x x X
Q Q [} Q
g g g g
[} (0] [
X =
£ & 8107
a
=]
3
1072
107
] . =} <} o 4
3 : 5 5 3
['4 . 24 o 24
0.95F -d- 0.95p - 0.95)
92 4 6 10 12 14 16 18 20 92 4 6 8 10 12 14 16 18 20 °9 6 8 10 12 14 16 18 20 °9
track x2 track x2 track x2
N of reco track vs. DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO
%] [} 0
2 2 2
8 8 g
g £ g
E =

Ratio




	Contents
	Page 1


